RUN 2 - 22 avril 2013 au 24 avril 2013

FilteringCondition 2
Coincidence X/Y NO
seuils 200 mV
matrices sans blindage
distance intermatrice 385 cm
inclinaison 0°
angle zénithal 90°
azimut 90°
Remarque plantage de la matrice 11

le 24/4 /2013 vers 09 :30 (UTC)
arrét du run
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RUN 2 - Nano time distribution

0 0.2 0.4 0.6 0.8 1
cycle time (s)
nano time FRONT MAJ2 CXY
0 0.2 0.4 0.6 0.8 1
cycle time (s)
nano time MIDDLE MAJ2 CXY
0 0.2 0.4 0.6 0.8 1
cycle time (s)
nano time REAR MAJ2 CXY
0 0.2 0.4 0.6 0.8 1

cycle time (s)

normalized histogram normalized histogram
o
(92

normalized histogram

normalized histogram

3

[
o1

N

=
3

[u

O

3

25

15

0.5

0

3

25

15

0.5

O

3

25

15

[

0

nano time MAJ3

0.6
cycle time (s)

0.8

nano time FRONT MAJ3

0.6
cycle time (s)

0.8

nano time MIDDLE MAJ3

0.6
cycle time (s)

0.8

nano time REAR MAJ3

0.6
cycle time (s)

0.8

normalized histogram normalized histogram normalized histogram

normalized histogram

3

25

15

0.5

0

3

25

15

0.5

0

3

25

15

0.5

O

3

25

15

[

O

nano time MAJ3 CXY

nano time FRONT MAJ3 CXY

0.6
cycle time (s)

0.8

nano time MIDDLE MAJ3 CXY

0.6
cycle time (s)

0.8

0.6
cycle time (s)

0.8

nano time REAR MAJ3 CXY

0.6
cycle time (s)

0.8

normalized histogram normalized histogram
I
(92

normalized histogram

normalized histogram

[ N
o oN U w

OE

[

o

25

15

0.5

25

15

0.5

25

15

0.5

3
2
1
00 0.2
3
2
1
O0 0.2
3
2
1
O0 0.2

nano time MAJ3 CXY lin

0.2

nano time FRONT MAJ3 CXY lin

0.4 0.6
cycle time (s)

0.8

nano time MIDDLE MAJ3 CXY lin

0.6
cycle time (s)

0.8

0.6
cycle time (s)

0.8

nano time REAR MAJ3 CXY lin

0.6
cycle time (s)

0.8




nbHits/s

nbHits/s

RUN 2 - Selection Influence on Hits

X-F MAJ2 Y-F MAJ2 X-M MAJ2 Y-M MAJ2 X-R MAJ2 Y-R MAJ2 CT-F MAJ2 CT-M MAJ2
0.4 » 04 ©v 04 » 04 © 04 © 04 © 04 © 04
) 8 I} ) 2 ) 2
I I I T I T I
0.2 202 2 2 0. £ 0.2 202 £ 0.2 202
0 0 0 0 0 0
0 10 0 10 0 10 0 10 0 10 0 10 0 20 0 20
bar no bar no bar no bar no bar no bar no bar no bar no
X-F MAJ2 CXY Y-F MAJ2 CXY X-M MAJ2 CXY Y-M MAJ2 CXY X-R MAJ2 CXY Y-R MAJ2 CXY CT-F MAJ2 CXY CT-M MAJ2 CXY
0.2 » 0.2 ” 0.2 » > 0.2 » 0.2 > 0.2 » 0.2
2 Z 2 2 Z 2 Z
0.1 501 5 01 5 5 01 501 5 01 501
o c c c c c o
0 0 0 0 LI eneEEEEE. | 0 0 0
0 10 0 10 0 10 0 10 0 10 0 20 0 20
bar no bar no bar no bar no bar no bar no bar no bar no
X 10'3X—F MAJ3 X 10‘3Y—F MAJ3 X 10'9(—M MAJ3 X 10‘3(—M MAJ3 X 10‘%(—R MAJ3 X 10'3(—R MAJ3 X 10‘€T—F MAJ3 X 10€T—M MAJ3
8 8 8 8 8 8 8
0 6 ©» 6 0 6 v 6 © 6 K4 © 6 © 6
2 2 2 2 2 2 2 2
I 4 T4 I 4 I 4 I 4 I I 4 I 4
£ 2 £ g g g g g
2 2 2 2 2 2 2
el e oo
0 0 0 0 0 0 0
0 10 0 10 0 10 0 10 0 10 0 10 0 20 0 20
bar no bar no bar no bar no bar no bar no bar no bar no
« 16=F MAJ3 CXY x 1¥=F MAJ3 CXY ¥ 1M MAJ3 CXY £ 1§=M MAJ3 CXY ¥ 15=R MAJ3 CXY « 1§=R MAJ3 CXY x OF MAJ3 CXY « F*M MAJ3 CXY
4 4 4 4 4 4 4 4
@ 2 £ Ry @ K4 LY K4
2 2 2 2 2 2 2 2
E I||||||||||||||I E |||||||||||||||l ” III||||“‘||||I| E I||||||||||||||l E % - g
[= [= [= [= [= [= [= [=
0 10 0 10 0 10 0 10 0 10 0 10 0 20 0 20
bar no bar no bar no bar no bar no bar no bar no bar no
X)&dﬂMAJ?: CXY LIN XYI(F3MAJ3 CXY LIN )?(I(M‘MAJS CXY LIN XYl-d\ﬁMAJ3 CXY LIN x)@(ﬁ3MAJ3 CXY LIN XYﬁ3MAJ3 CXY LIN QIO-F MAJ3 CXY LIN QIUM MAJ3 CXY LIN
2 2 2 2 2 2 2 2
@ K4 K4 Y kY K4 kY K4
51 51 51 51 51 51 51 51
c c c c = c = c
0 0 0 0 0 0 0 0
0 10 0 10 0 10 0 10 0 10 0 10 0 20 0 20
bar no bar no bar no bar no bar no bar no bar no bar no
XsF MAI3 CXY LINMAX Y3 MAJ3 CXY LIN MAX  XsM#RI3 CXY LINMAX  Y5MMAI3 CXY LIN MAX  X5RHAI3 CXY LIN MAX YR MAI3 CXY LIN MAX
2 2 2 2 2 2
@ v 2 XY LY 0
2 2 £ £ £ £
51 51 51 51 51 51
[= [= [= [= [= [=
0 0 0 0 0 0
0 10 0 10 0 10 0 10 0 10 0 10
bar no bar no bar no bar no bar no bar no

nbHits/s

nbHits/s

CT-R MAJ2
0.4
0.2
0
0 20
bar no
CT-R MAJ2 CXY
0.2
0.1
0
0 20
bar no
x 10€T-R MAJ3
8
)
j2}
I 4
2
- Nl
0
0 20
bar no
x fr*R MAJ3 CXY
4
LY
2
52
[=
0
0 20
bar no
£TgR MAJ3 CXY LIN
2
o
2
1
=
0
0 20
bar no



20

15

10

25

15

0.5

Number of events per Second — MAJ2

23/04/13 24/04/13 25/04/13

time (local time)

22/04/13

Number of events per Second - FRONT — MAJ2

23/04/13 24/04/13 25/04/13

time (local time)

22/04/13

Number of events per Second - MIDDLE - MAJ2

22/04/13 23/04/13 24/04/13 25/04/13
time (local time)
Number of events per Second - REAR - MAJ2
+
22/04/13 23/04/13 24/04/13 25/04/13

time (local time)

RUN 2 - Time variation N canals illuminated - MAJ 2

40

30

20

10

15

10

20

15

10

Number of canals illuminated per Second - MAJ2

24/04/13 25/04/13

|
23/04/13
time (local time)

22/04/13

Number of canals illuminated per Second — FRONT - MAJ2

23/04/13 24/04/13 25/04/13

time (local time)

22/04/13

Number of canals illuminated per Second — MIDDLE - MAJ2

24/04/13 25/04/13

23/04/13
time (local time)

22/04/13

Number of canals illuminated per Second — REAR — MAJ2

23/04/13 24/04/13 25/04/13

time (local time)

22/04/13

40

30

20

10

1.2

0.8
0.6
0.4
0.2

Number of CT canals illuminated per Second - MAJ2

24/04/13 25/04/13

|
23/04/13
time (local time)

22/04/13

Number of CT canals illuminated per Second — FRONT — MAJ2

23/04/13 24/04/13 25/04/13

time (local time)

22/04/13

Number of CT canals illuminated per Second - MIDDLE - MAJ2

24/04/13 25/04/13

23/04/13
time (local time)

22/04/13

Number of CT canals illuminated per Second - REAR - MAJ2

23/04/13 24/04/13 25/04/13

time (local time)

22/04/13



RUN 2 - Time variation N canals illuminated - MAJ 2 CXY
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RUN 2 - Mean ADC VS Illumination threshold - MAJ 2 CXY
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RUN 2 - Mean ADC VS Ilumination threshold - MAJ 3
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RUN 2 - Mean ADC VS Illumination threshold - MAJ 3 CXY
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